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No Wi n e&icmon X% —8x +12= 412 2X).
No Wi n e&iomwon 3x2 —11X+6=Xx+6.

Na ABsi 1 e&icwon (X — 4)2 =—4(2x -5).
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No cupUTANPOGETE TO KEVA OTIC TOUPOUKAT® TPOTAGELS:

H yevici popen e eélooong 2% Badpod eivar .. Jax* +Bx+y=0]...
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No WBei 1 ebiowon x2 —8x +12= 42— 2X).
X2 —8x +12= 4(12— 2x)
x?—8x +12=48-8x
X2 —8x+12—48+8x =0
x?-36=0
x? =36
X=6MX=-6

No Wi 1 ebiowon 3x2 —11x+6=Xx+6.
3x? 11X +6=%x+6
3x?-11x+6-x-6=0

3x?-12x =0
x(Bx-12)=0

x=0n3x-12=0
x=0mn 3x=12
x=01n x=4

Na A0ei n eéicoon (X - 4)2 =—4(2x - 5).
(x —4)* = —4(2x - 5)
x?—8x+16=—-8x+20
x?—8x+16+8x—20=0

x?=4
X=21X=-2



